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���
	� ������ ��� ���
�� 
$	���� ��������� ������*�	
	 �	�	�� 
��	������. �	����4�
	 ����� ����-
������ ������	
	 ����, ����� �� ������� ��
���
	� ������, ������� ����-
�� �
����, �����	��� �	����� � �	���!
	� �����	�	� �����	��� 
� 	�
	�
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��� �
��
���
	��� 
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� ��
���
	� ������: ��� 
	��

�, ���
	�
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���
��

� ���� 
	��

� � �	����
��� ��������� 
	��

�. 0��
���
	 ����	-

���
� ��������� ������	
	 ����. 

 
THE INFLUENCE OF THE PARAMETERS OF THE  
BOILING LAYER AND FORM OF THE PULSE OF  
THE AIR SPEED ON THE INTENSIFICATION OF  
THE PROCESS OF A COAL PARTICLE BURNING 

 
A mathematical model of a coal particle burning is described on the basis 

of various forms of pulses of pulsed gas flow. An influence of the boiling layer 
parameters such as diameter of a coal particle, diameter of an inert particle, 
wind speed and constant speed of element is investigated on the basis of 
indicators of intensity of a coal particle burning: time of burning, relative 
reduction of the time of the burning and speed of surface burning. The rational 
parameters of a boiling layer are determined. 

 
G���� �� P&&����	�7
 ����# �����
�&������ �����

� '�����+ 

�'�%���# ��
���7 +	%+��
+ ���������� ��%�
���H(�# ������ 	����
�. 
4+��� �

%���	���# ��������, ��� ���������� ��%�
���# �	�%���	��� 
'������ ���%�	 [1,2]. G����� ����
������ P��
 ����� +	%+��
+ ������� 
��������+ 
����
�� �����H(�'� ������ (	����
�) 	 	��� 
���
����%���# 
��	�
���
��. " ������ [3] 
����
�� �����H(�'� �'���� ����	�%�
� 	 	��� 
��
%���	���%���
�� ����'�%��7
 ����%�
�	 
 ���������# 
�	����
��H. 
G�����, 	 �����# ������ �� ��

������� 	%�+��� ��7
 &��� ����%�
�	 � 
��
��+���# 
�
��	%+H(�# 
����
�� �����H(�'� �'���� �� �����
�	��
�� 
'�����+ �'�%���# ��
���7. O�%�H ��
��+(�'� �

%���	���+ +	%+��
+ ��-
����%���� 	%�+��+ ���������	 ���+(�'� 
%�+ � &��� ����%�
�	 
����
�� 
�����H(�'� �'����, � ����� ��
��+���# 
�
��	%+H(�# 
����
�� �� 
�����$���� 	������ '�����+ �'�%���# ��
���7 �� 
��	����H 
 ��
��+�-
�7� ������� '���	�	�
7 ��	��'� ��

��� �� ������. 
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4�

������ ����������
��H ����%� '�����+ �'�%���# ��
���7 ��� 
��%�
���H(�# ������ �����H(�'� �'���� ('���). ������� $����������# 
�'�%���# ��
���7 ���
7	���
+ 
%���H(�# 
�
����# ���	����# [3] 
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'��: m  − ��

� ��
���7; U  − 
����
�� ������(���+ ��
���7; gU − 


����
�� '���; x − ���������� ��
���7 	 	������%���� �����	%����; t − 
	���+; 2πδ=S  − �%�(��� ��	��
��
�� ��
���7; δ  − ����(�# ������� 
��
���7; ρm – �%����
�� ��
���7 �'%�����; cc ,0  − �����������+ ��
%���-

�� 	 ������ � �� ��	��
��
�� ��
���7 
���	��
�	����; =β 12/32 − ����$�-

��� ��%���%+��7
 ��

 �'%����� � ��
%�����; ν  − 
��
���������
��# ��-
P&&������ ��� �'%����� 	 ���	����� �������, �������H(�# �� ��	��
��-

�� ��
���7 (��������, �%+ ?2 + S →  S?2, ν = 1, �%+ ?2 + 2S →  2S?, ν = 
2); h  − ��P&&������ ��

���������, ������%+��7# �� �������+ @��	��� 

 

Re6,02 +==
D
hSh δ

, 

 
������ 
 

( )Re6,02 +=
δ
Dh , 

 
'�� D  − ��P&&������ ��&&���� ��
%����� � 	����
� � ��	��
��
�� 

'��+(�# �'�%���# ��
���7; Re − ��
%� 4�#��%��
�, ������%+���� ���  
 

s

ss

μ
δρUU −

=Re , 

'�� sρ  -�%����
�� '���	�	�
�, 	 
	�H ������� ������%+���+ �� &����%� 
 

( ) igs 1 ρερερ ⋅−+⋅= , 

 
'�� iρ  – �%����
�� ��
��� ������; gρ  -�%����
�� '���; ε - �������
�� 


%�+, ������%+���+ �� &����%� [4] 
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'�� ε.0 = 0,4 – �������
�� 
%�+ �� ����'� ����%� �
�	���������+; Umf – 


����
�� ������%���'� �
�	���������+, ������%+���+ �� &����%� [5] 
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'�� n = 2,5 ÷ 3,8 – ��������%� 
������, 
����������H(�# 
�
��+��� ��-

	��
��
�� ��
���7 [6]; id  - ������� ��
��� ������; Ar - �������# ��
���-
��  
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'�� νg = μg / ρg – ����������
��+ 	+���
�� '���, μg – 	+���
�� '���; 

sμ  - 	+���
�� '���	�	�
�, ������%+���+ �� &����%� [7] 
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'�� ui – 
����
�� 
��%�����+ ��
��� ������, ������%+���+ ��� 
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4�$���� 
�
���7 ���	����# (1) - (3) ���	���%�
� 	 
���� ������ 

Mathcad ������� 4��'�-!���� 4-'� ���+��� �����
��. 
8���7 ����%�
�	 
����
�� 	����
� 	 �����

� �

%���	���+ ����-

	�%�
� 	 	��� ��	����������'� ����'�%�����, ��	����������# ��������, 
��+���'�%���'� ����'�%����� � ���
7	�%�
� 
%���H(��� ���%�����
��-
�� ��	�
���
�+��: 

�) &���� ����%�
� 	 	��� ��	����������'� ����'�%����� 
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'�� � – ��
��+���+ 
�
��	%+H(�+ 
����
�� '���; 1 – ������; ψ - 
�	��-

��
��;k  - �'%�	�# ��P&&������. =�� �����# &���� ����%�
� 	7������� 
�%+ �'%�	�'� ��P&&������� ����� 	�� 
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'��  1h - ���%����� ����%�
�, ������%+���+ �� &����%� 
 

A
AU

h g +
−

=
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21 ; 

 

1k  - ��������7# �������� ���	����+, ������%+��7# ��� 
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�) &���� ����%�
� 	 	��� ��	����������# �������� ���
7	���
+ 

��	�
���
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 ������ ���%����7 �����# &���7 
����%�
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'�� 2k - �'%�	�# ��P&&������, ������%+��7# �� &����%� 

 

ψ
α

Ah
tgk

−
== 1

2 . 

=�� ���	������ ��
����	 �������+ ���������	 �������%� 
%���H(�� 
�������+: 

− �%+ �'�%���# ��
���7: ����%��7# ������� d0 = 2,5 ��; 5 ��; 7,5 
��; �%����
�� ρm = 1,5⋅103 �'/�3; 

− �%+ ��
��� ������: ������� di = 0,35 ��; 0,5 ��; 0,65 ��; �%����
�� 
ρi = 2⋅103 �'/�3; 

− �%+ �����H(�'� �'���� ('��): �%����
�� � 	+���
�� ������%��7 �� 
���%��� �%+ 
�
�'� 	����
� ��� ����������� 1g = 900 0>, ρg = 0,301 �'/�3; 
μg = 46,7⋅10-6 =�⋅
; 
����++ ��

����+ 
����
�� '��� Ug = 3 �/
; 5 �/
; 7 �/
; 
��
��+���+ 
�
��	%+H(�+ 
����
�� � �������%�
� ��	��# 0 �/
; 0,5 �/
; 1 
�/
; 

− �%+ ���������	 ��%�
���H(�'� ������: ������ ��%�
���# 1 = 1 
; 

�	����
�� ψ = 0,25. 

" ����
�	� ���������, 
����������H(�'� 	%�+��� ��%�
���# �� 
��-
��
�� '�����+ ��
���7 ��� ��������7
 ���������
 ������, �
��%�����
+ 
����
���%���� �����$���� 	������ '�����+ 

 

0g

gg0

g0

g

t
tt

t
t −

==
Δ

θ  

 
'�� tg – 	���+ 
'�����+ ��
���7 	 ��%�
���H(�� ������; tg0 – 	���+ 


'�����+ ��
���7 	 ������ ��
��+���# 
����
�� (ψ = 1). 
G��	����, ��� ��� ��%�$� �������� θ, ��� ��%�� P&&����	�7� ����� 


������ 
���	��
�	�H(�� ��������7 ��%�
���H(�'� ������. 
>����
�� '�����+ ��
��� ����� ������� 
 ����(�H ��	��
��
���# 


����
�� '�����+ [8], ������%+���# �� &����%� 
 


�

�'
,

6 2
g

m0
s

⋅⋅
⋅

=
t

d
K

ρ
. 

 
=�� �

%���	���� ������%+%�
� 
%���H(�� ��������%�: 	���+ '���-

��+ �'�%���# ��
���7 tg, ����
���%���� �����$���� 	������ '�����+ θ, 
��	��
��
���+ 
����
�� '�����+ Ks ��� ��������7
 ���������
 ���+(�'� 

%�+, �.�. �������� ������ id , �������� �'�%���# ��
���7 0d  � 
����
�� 
'��� gU  ��� ���
 &����
 ����%�
�	 
����
�� �����H(�'� �'����. 4�-

��%����7 ��$���+ ����
��	%��7 	 '��&���
��# &���� �� ��
.1, '�� ���
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                Ug = 3 �/
, di = 0,35 ��;                Ug = 3 �/
, di = 0,5 ��; 
                Ug = 3 �/
, di = 0,65 ��;                  Ug = 5 �/
, di = 0,35 ��; 
                Ug = 5 �/
, di = 0,5 ��;                    Ug = 5 �/
, di = 0,65 ��; 
                Ug = 7 �/
, di = 0,35 ��;                  Ug = 7 �/
, di = 0,5 ��; 
                Ug = 7 �/
, di = 0,65 ��                

 
���. �.  $��������� ������������� ������� �������B �����C
 

��� ��������
� ���������� �������� ����: 
          � – ����� 
	��
�� �
	��
	! �������;   � – 	�
	������
	� 

                 ���
���
�� �����
� 
	��
��; � – �	����
	��
�� ��	�	��� 
                 
	��
�� �
	��
	! ������� 

×

df = 2,5 tg, 
 df = 5,0 df = 7,5 
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[s, �'/�2⋅
 



188 

���%���7
 ��������
 �'�%���# ��
���7 ��
%���	���%���
�� &��� ��-
��%�
�	 
����
�� �����H(�'� �'���� (	 �����%�
 �����'� 
��%���, ����-
��+ 
 %�	�'� ���+) ����
��	%��� 
��	�%��� 	 
%���H(�� ���+���: ��	��-
�������7# ����'�%����, ��	����������+ �������+ � ��+���'�%��7# ���-
�'�%����. 

!�� 	���� �� ��
.1 	%�+��� &���7 ����%�
� 
����
�� �����H(�'� 
�'���� ��� ��������7
 ���������
 ���+(�'� 
%�+ �%+ 	
�
 ��������%�# 
�����
�	��
�� '�����+ �'�%���# ��
���7 ���������%���. F�� ��� 
����-

�� gU = 3 �/
, �������� ��
���7 0d = 7,5 �� � �������� ������ id = 0,65 

�� ��������%� tg , θ  
�
��	%+H� 
���	��
�	���� ��� &���� ����%�
� 	 	�-
�� ��	����������# �������� 59,23 
 � 0,389, � ��� &���� ����%�
� 	 	��� 
��+���'�%���'� ����'�%����� 55,96 
 � 0,422. ��%���#$�# ���%�� ��%�-
����7
 ����7
 �%+ 	
�
 ���������	 ���+(�'� 
%�+ ����� ��

�����	��� 
��� &���� ����%�
� 	 	��� ��+���'�%���'� ����'�%�����. 

=�������%� tg , θ, Ks ������%+%�
� ����� ��� �

%���	���� 	%�+��+ ��-

��+���# 
�
��	%+H(�# 
����
�� �����H(�'� �'���� � �� �����
�&���-
��H �����

� '�����+ �'�%���# ��
���7 ��� ������%���7
 ���������
 
���+(�'� 
%�+, ����
 ��� id = 0,5 ��, gU = 5 �/
, &���� ����%�
� 	 	��� 

��+���'�%���'� ����'�%����� � ���������� ��������� 0d .4���%����7 ��-
$���+ �����# ������ ����
��	%��7 �� ��
.2. 

�������$�� 	���+ '�����+ �'�%���# ��
���7, � ����� �����%�$�+ 
��	��
��
���+  
����
��  '�����+ ��� %H��� �� ���
 ��������	 �'�%���# 
��
���7 (��
.1) ���%H����
+ ��� 
����
�� '��� Ug = 7 �/
 � �������� 
������ di = 0,35 ��. =��  P��
 �� ���������
 ����
���%���� �����$���� 
	������ '�����+ �'�%���# ��
���7 θ  ��� �������� ��
���7 d0 = 2,5 �� 

�
��	%+�� 0,46, ��� d0 = 5,0 �� θ  ��	�� 0,215, � ��� d0 = 7,5 �� θ �����-
���� ��������%���� ��������, ��� 
	�����%�
�	��� �� �����$���� 	%�+��+ 
��%�
���# �����H(�'� �'���� �� 
����
�� '�����+ ��� �	�%������ ���-
����� �'�%���# ��
���7.  

�����%�$�� 	���+ '�����+ � �������$�+ ��	��
��
���+ 
����
�� 
'�����+ ��� 	
�
 ��������
 �'�%���# ��
���7 ���%H����
+ ��� Ug = 3 �/
 
� di = 0,65 ��.  =�� P��� 	�%����� θ  ��� 0d = 2,5 ��, 
�
��	%+�� 0,32, � 
��� d0 = 5,0 �� � d0 = 7,5 �� P��� ��������%� ��������� ��������, ��	��� 
0,42. �����%�� P&&����	�7�� ����������� ��%�
���H(�'� ������ �� ��-
������%H θ ����� 
������ 
����
�� '��� Ug = 7 �/
 ��� �������� ������ di 
= 0,65 ��, ��� ��� θ  ��� %H��� �� ���
 ��

�����	���7
 ��������	 
�'�%���# ��
���7 ����� �����%�$�� ��������.  

C� ��
.1 ����� 
%�����, ��� �	�%������ �������� ������ 	���� � 
�
��$���H ��������%�# �����
�	��
�� '�����+ �'�%���# ��
���7, ������ 
��������%� �����
�	��
�� '�����+ �'�%���# ��
���7 �����$�H�
+ 
 �	�-
%������� 
����
�� �����H(�'� �'���� Ug. F�� ��� 
����
�� '��� Ug = 3 
�/
 � �������� �'�%���# ��
���7 5 �� ��������� �������� ������ 
 di 
= 0,35 �� �� id = 0,65 �� ���	���� � �	�%�����H 	������ '�����+ �'�%�-
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��# ��
���7 gt  	 2,25 ����  � �����$���H 	�%����7 θ 
 0,42 �� 0,32. =�� 

gU = 5 �/
 � ��� �� �������� �'�%���# ��
���7 ��������� �������� ����-

�� 
 di = 0,35 �� �� id = 0,65 �� ���	���� � �	�%�����H  	������ '�����+ 	 

2,13 ���� � �����$���H 	�%����7 θ 
 0,5 �� 0,28. =�� gU = 7 �/
 � ���-

����� �'�%���# ��
���7 5 �� ��������� �������� ������ 
 di = 0,35 �� �� 

id = 0,65 �� ���	���� � �	�%�����H 	������ '�����+ �'�%���# ��
���7 

gt  	 2,0 ����  � �����$���H 	�%����7 θ 
 0,53 �� 0,22.  

���%�� 	%�+��+ ��
��+���# 
�
��	%+H(�# 
����
�� �����H(�'� 
�'���� � (��
.2) �� �����
�&�����H '�����+ �'�%���# ��
���7 ������%, 
��� �� 		������ �
��$��� �

%�����7� ��������%�, ������ 	%�+��� P��'� 
��������� 
�%���� ��� ��%�$�
 ��������
 �'�%��7
 ��
���. F�� ��� gU = 

5 �/
 � �������� �'�%���# ��
���7 0d  = 2,5 �� 		������ ��
��+���# 
�-

��	%+H(�# 
����
�� � = 1 �/
 ���	���� � �	�%�����H 	������ '�����+ 
��
���7 	 1,1 ���� � �����$���H 	�%����7 θ  	 1,14 ���. =�� ��# �� 
��-
��
�� �����H(�'� �'���� � �������� �'�%���# ��
���7 0d  = 7,5 �� 		�-
����� ��
��+���# 
�
��	%+H(�# 
����
�� � = 1 �/
 ���	���� � �	�%���-
��H 	������ '�����+ ��
���7 	 1,4 ���� � �����$���H 	�%����7 θ  	 2,74 
���.  

=��	�����7# ���%�� 
	�����%�
�	��� � ���, ��� �������%��7# 	7-
��� ���������	 ��%�
���H(�'� ������ ����� ���
������ ��
������� 	7-

���H 
������ �����
�&������ �����

� '�����+ �'�%���# ��
���7 	 ��-
�+(�� 
%��. 
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%���	�	
	��
	 ���	'�
�! ���	� ���
��$������ ������������� 

���	��� �����
, ��� ��	���� � ����� ����
�� �
��
����
�� �	��������, �� 
��
��� ��	 �� 
	��
���
�! ��4��. >��	� ���
	��/���� 
� �	���� ��	 
�	4������� ��������
�
	� ����
� �����
	
	 �	�	�� ���� ��	�� 
��������
��� �	�	����, 	��
 � �	���� ��	�
��	�
	 �	����*/���� � 
�����
�, ���	
�*�� ���� 4 �	�	��, '	 � �����
�! �	���, � ���
�! – 
��	���*/����. 0������ ���� � �	�	��, '	 ��	���*/����, ���!��/���� 
� 
������

�� ��4���� �	�	�� �����
� ����	*. 

 
THE METHOD OF IDENTIFICATION OF THE CHARACTERISTICS 
OF A STEAM TURBINE OF THE MINE ENERGETIC COMPLEXES 

 
A simplified method of identification of the steam turbine characteristics 

included in mine energetic complexes are proposed according to their data on 
their nominal mode. This method is based on the evidence of possible equivalent 
exchange of the real steam flow by two parallel steam flows, one of which is 
izoenthropically widened in a turbine fulfilling the same job as the  real flow, 
and the second is throttled down. The steam discharge in the throttled-down 
flow is considered as stable at variable modes of work. 

 
>������� $�
��7
 P���'�����
��
 ����%��
�	 +	%+��
+ ����� �� ���-


�����	�7
 �����	%���# ��	��
�&������ ��+��%���
�� �'%����7	�H(�
 
�������+��# [1]. =������7 ������������# ��'��������, ���%�����7� 	 
���%�	7
 

���
 P���'�����
��
 ����%��
�	, ����������%+H� �
��%���-
	���� ����	7
 �����	���	%����
��
 ������ 
 �����������. 4����7 ��-
'������+ P��
 ������ �� ���%� +	%+H�
+ 
�(�
�	���� ��������7�� (���� 
– %���). �%+ ���%��� ��������7
 ������	 �����7 �����������7
 P���'�-
����
��
 �
����	�� ����
����� ����� ��� ���7	���7� ����	7� 
������-
��
���� ������, ����
��	%+H(�� 
���# ��	�
���
�� ��

��� ���� �� ���-
���� m �� 	7�����7	����# P%�������
��# ��(��
�� PN  � ��

���	 ���� 	 


